
A15-340 Download data by searching for the corresponding 
model number on the Technical Support site. https://tech.thk.com

     Round Supported-Side Support Unit Model FF 

  

(90�  equidistant)

4-� d1 through hole,
� d2 counter bore depth h

�
B 

  

 Model No. 
 Shaft

diameter             

 d  L  H  F  D  A   

 FF 6  6  10  6  4  22  –0.007 
 –0.02  36   

 FF 10  8  12  7  5  28  –0.007 
 –0.02  43   

 FF 12  10  15  7  8  34  –0.009 
 –0.025  52   

 FF 15  15  17  9  8  40  –0.009 
 –0.025  63   

 FF 20  20  20  11  9  57  –0.01 
 –0.029  85   

 FF 25  25  24  14  10  63  –0.01 
 –0.029  98   

 FF 30  30  27  18  9  75  –0.01 
 –0.029  117   

   
      

BallScrew_CD.indb   340BallScrew_CD.indb   340 2024/07/23   14:37:502024/07/23   14:37:50

515E



A15-341

B
all Screw

 Peripherals
Support Unit

 Part 
No.  Part name  No. of units 

 1  Housing  1 
 2  Bearing  1 
 3  Snap ring  1 

� APCD� d� Dg6

HF
L

1 2 3

R0.6MAX

    Unit: mm 

            
 Bearing used  Snap ring used 

 Mass 

   PCD  B  d 1   d 2   h  kg 

 28  28  3.4  6.5  4  606ZZ  C6  0.04 

 35  35  3.4  6.5  4  608ZZ  C8  0.07 

 42  42  4.5  8  4  6000ZZ  C10  0.11 

 50  52  5.5  9.5  5.5  6002ZZ  C15  0.2 

 70  68  6.6  11  6.5  6204ZZ  C20  0.27 

 80  79  9  14  8.5  6205ZZ  C25  0.67 

 95  93  11  17.5  11  6206ZZ  C30  1.07 

BallScrew_CD.indb   341BallScrew_CD.indb   341 2024/07/23   14:37:502024/07/23   14:37:50

515E




